
20.1.21 WEDDING GUESTS ANSWER SHEET 

                

 table A       table B      

   1 1 0 r1     0 8 8 r1  

  4 4 4 1     5 4 44 41   

                

 table C       table D      

   0 7 3 r3     0 6 3   

  6 4 44 21     7 4 44 21   

                

 table E              

   0 5 5 r1          

  8 4 44 41           

                

                

 Table D is the best table because there is no remainder so 

all the tables will be full of guests. If you used the other 

tables, you would  have a remainder which would mean 

you would need an extra table with just one guest (tables A, 

B and E) or just three guests (table C). 

 

  

  

  

                

                

                

                

                

                
 


